1.

Ivan displayed a collection of Hot Wheels on a shelf.

e He made 6 rows.
¢ He put 8 carsin each row.

How many cars does lvan have in his collection? (3.0A.3)
a. 14
b. 42
c. 48
d. 64

Ms. Campo has 5 boxes of crayons. Each box holds 8 crayons.

Which equation shows the total number of crayons in Ms. Campo's boxes? (3.0A.1)

a. 9-5=4

b. 5+9=14
c. 5x8=40
d. 5x9=45

Jack had 76 toy cars. He lost 20 cars at recess and 12 cars broke. The rest he gave to
his friend Jill. Which number sentence could be used to find how many toy cars he
has¢ (3.0A.8)

.76+20+12=0G
. 76-20+12=0
. 76+20-12=0©
. 76-20-12=©
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A true number sentence is shown below.

X5=45

What number goes in the |___] ¢ (3.0A.4)
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